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COMPRENSION DE TEXTOS ORALES

Apellidos: ..............coveiiie e

NOMDBE: ...

Marca con una X lo que corresponda:

[] Aumno/a LIBRE

INSTRUCCIONES PARA LA REALIZACION DE ESTE EJERCICIO:

o Duracion; 45 minutos
o Este ejercicio consta de dos tareas. Deberas realizar las dos.

o Enlatarea 1 vas a escuchar 3 veces un documento sonoro. Deberas seleccionar una
de las tres opciones (A, B o C), la que se corresponde con lo que dice la grabacion.

Obtienes: 1 punto por cada respuesta correcta; O puntos por cada respuesta incorrecta

0 no dada.

o Enlatarea 2 vas a escuchar 3 veces un documento sonoro con diez extractos (1-10),
que deberas relacionar con 10 enunciados, segun lo que dice la grabacion.

Obtienes: 1 punto por cada respuesta correcta; 0 puntos por cada respuesta incorrecta

0 no dada.

Muy importante: al final, comprueba que has elegido una sola opcion (como en
el ejemplo); si eliges dos opciones, se anula la respuesta a esa pregunta.

o No escribas en los cuadros destinados a la calificacion de las tareas.
o Solo se admiten respuestas escritas con boligrafo azul o negro.

NO ESCRIBAS AQUI

PRUEBAS DE CERTIFICACION

PUNTUACION DEL EJERCICIO: / 20

CALIFICACION: [ | Superado [ | No Superado
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TAREA 1 - 10 puntos: You will hear a radio programme about the decay of the Houses of Parliament.
Choose the best option (A, B, C or D) to complete the following sentences. Write your answers in the
boxes. Number 0 is given as an example. You will get 1 point per correct answer. You will hear the

recording THREE times.
The Houses of Parliament are Falling Down ANSWER
0. According to the radio programme, asbestos...
a) is present all over the edification. v/
b) is to be implemented very soon. A \/

c) was used in the past but not in this building.
d) was chosen for its endurance.

1. Electrical wiring and the rest of household installations...
a) were restored in the 1970s.
b) got damaged right after 1970.
c) were installed in the 1970s.
d) ought to have been restored in the 1970s.

a) flood risk.

b) toxic exposures.

c) darkness and fires.
d) electric shocks.

2. Should the installation replacement take place, workers must be cautious about...

3. Last year’s fire...
a) was extinguished quickly.
b) took 40 days to be controlled.
c) was detected very late.
d) was set intentionally.

4. Concerning the fire control plan in the Parliament, ...

a) thereis a lack of security.

b) itis properly screened and monitored.
c) there is continuous surveillance.

d) itisto be inspected soon.

5. The artworks of the building have...

a) undergone a thorough restoring process.
b) been painted grey.

c) fallen into disrepair.

d) been believed to be Gothic.

6. Sir Edward Leigh’s opinion is that the building...

a) is contrary to the idea of safety.

b) is associated with the idea of outrage.
c) opposes the idea of liberty.

d) is related to the idea of freedom.

7. Over the years...

a) there have been many people asking for a solution to this decay.

b) many people thought that there was no point in fighting against time.

c) few people have called for it to be restored.

d) more and more politicians have thought that a change of building would be better.
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8. Regarding the property of the palace...

a) the Queen controls the totality of the building.
b) the House of Commons controls the totality of the building.
c) some portions are still part of the Queen’s possessions.
d) some voices claim the entire devolution of the property.
9. According to the committee, trying to keep the palace safe is...

a) an accomplishable project.
b) not such a difficult mission.
c) an urgent mission which can be done without much effort.
d) an almost impossible task to be carried out.
10. If the activity of the Houses of Parliament remains the same, the renovations
would cost an estimated...

a) £5.7bn. and take 40 years.
b) £3.5bn. and take 15 years.
c) £5.7bn. and take 14 years.
d) £3.5bn. and take 50 years.

PUNTOS: / 10

TAREA 2 - 10 puntos: You will hear a woman, Louisa Lanteigne, from Canada, talking about her family
roots: the Acadians and the Mi’kmaq. Match the extracts (1-10) with the statements (A-J). Extract O is
given as an example. You will get 1 point per correct answer. You will hear the recording THREE times.

EXTRACT
EXAMPLE: Many Canadians are not aware of the history of her people 0 \/

A. A relative of hers managed to run a business being illiterate

B. Children were not allowed to keep or have certain objects

C. Recognition as a country depended on religious reasons

D. Scarcity made them very imaginative

E. Their History was partially taught

F. Their indigenous nature keeps history alive

G. Their way to manage their economy made them prosperous

H. There were economic reasons for their national identity acknowledgment

I. They did not need to buy anything from their neighbours.

J. Virus were used to slaughter them
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